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Ch – 5: Heat and its effects
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Question 1:

You are planning to go to a very cold place where
the night temperature drops to -50 °C.

Which thermometer will you take with
you-mercury of alcohol? Why?

ANSWER:

To measure the temperature of cold places
where the night temperature drops to -50°C, we
will use the alcohol thermometer. This is because
alcohol freezes at -115°C, while mercury freezes
at-38°C.
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Question 3:

Can a clinical thermometer be used to measure
the temperature of boiling water? Why?

ANSWER:

A clinical thermometer has the temperature
range from 35°C to 42°C. But the boiling point of
water is 100°C. Therefore, it is not possible to
measure the temperature of boiling water with a
clinical thermometer, as it can break outside its
range of temperature.
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Question 4:

Why is a laboratory thermometer not used to
measure body temperature?

ANSWER:

A laboratory thermometer is designed to
measure high temperature ranges; therefore, the
divisions marked in between the degrees are not
equal to that of a clinical thermometer which is
specifically designed for measuring small
temperature ranges. The divisions marked on a
clinical thermometer are accurate to measure the
body temperature perfectly.
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Question 5:

You have seen that an ordinary glass tumbler can
crack if very hot or very cold water is poured into
it.You have two glass tumblers made of ordinary
glass-one with thick walls and the other with
very thin walls. Which one is more likely ot crack
when very hot or very cold water is poured into
them?

ANSWER:

A thick walled tumbler will crack more easily than
a thin walled tumbler when extremely hot or cold
water is poured into them.This is because in a
thick walled glass, it's outer wall will be less
affected by the extreme temperature as
compared to its inner wall. The inner wall will
expand or contract easily, while the outer wall will
remain unaffected causing the glass to break.
But in a thin glass, both the inner and the outer
wall will react to the high or low temperature and
expand or contract almost at the same time.
Hence, it is less likely to crack.
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Question 2:

Which is greater-a 1° rise in the Celsius scale or
a 1°rise in the fahrenheit scale?

ANSWER:

1° rise in the Celsius scale is greater thana 1°
rise in the Fahrenheit scale. It is shown in the
calculation below.

F2-F1=1(2)Cs +35]-[(2)C; +35]
1=(3)c - (e
1= (%)[Cz -C4ql

5
5 =C2-C4
0.56=CZ'C1

Hence, for the same temperature increase, the
increase on the Celsius scale is only by 0.56°,
while that on the Fahrenheit scale is by 1°.
Hence, 1° rise in the Celsius scale is greater than
the 1° rise on the Fahrenheit scale.




